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QUESTION 1

Which of the following types of computing can deliver economic value to a Green IT project? 

a.

 Grid. 

b.

 Matrix. 

c.

 Cloud. 

d.

 Lattice. 

A. 

a and c. 

B. 

a and b. 

C. 

b and c. 

D. 

c and d. 

Correct Answer: A 

 

QUESTION 2

Which of the following describes Carbon Neutrality? 

A. Eliminating CO2 emissions from product manufacture. 

B. Maintaining CO2 emissions at a pre-defined agreed level. 

C. Balancing CO2 emissions with an equivalent offset amount. 

D. Matching CO2 emissions between defined business areas. 

Correct Answer: C 
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QUESTION 3

Which of the following is part of a Green IT Procurement process? 

A. Implementing effective escrow agreements for software products. 

B. Negotiating discounts for products with high energy consumption. 

C. Requiring that suppliers have an effective Health and Safety policy. 

D. Ensuring that suppliers comply with your environmental policy. 

Correct Answer: D 

 

QUESTION 4

Which of the following can form part of an employee change programme? 

a.

 Education and commitment. 

b.

 Separation and exclusion. 

c.

 Participation and involvement. 

d.

 Negotiation and agreement. 

e.

 Manipulation and co-option. 

A. 

b and c. 

B. 

a, b and c. 

C. 

a, c, d and e. 

D. 

b, c d and e. 

Correct Answer: C 

BH0-008 VCE Dumps | BH0-008 Practice Test | BH0-008 Exam Questions                                3 / 4

https://www.leads4pass.com/bh0-008.html
https://www.leads4pass.com/bh0-008.html
https://www.leads4pass.com/bh0-008.html


https://www.leads4pass.com/bh0-008.html
2024 Latest leads4pass BH0-008 PDF and VCE dumps Download

 

QUESTION 5

In which units are the results of a Carbon Footprint Calculation displayed? 

A. Tonnes. 

B. Kilowatts. 

C. Dollars. 

D. Litres. 

Correct Answer: A 
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